Вариант 1

1. Буква “L” читается в слове.

A) calm
  B) talk 
 C) could
 D) half 
    E) hold

2. Выберите правильный вариант артиклей.

They placed … box on … table.

A) -, the
 B) An, a.
 C) The, an.
D) -, -.  
   E) The, the.

3. Выберите слово с I типом слога:

A) Price
 B) Top 
C) Sorry
 D) Ham
 E) Tub

4. Выберите правильный вариант степени сравнения прилагательного: He can speak English … than you.

A) Gooder. B) Goodest. C) The best.    D) Good.  E) Better.

5. Найдите правильный вариант сказуемого:

Asel … sweets.

A) Don’t like.    B) Do like.     C) Not like.  D) Likes not.      E) Doesn’t like.

6. Выразите одним словом:

A person who travels by plane or by ship is a ...

A) passenger. 

B) customer.  C) businessman.  D) seller.
E) stranger.

7. Выберите правильный вариант предлога:

She is fond … pop music.

A) after B) in   C) of   D) for          E) with

8. Выберите правильную форму глагола в страдательном залоге:

She (not to take) to the concert by her brother yesterday.

A) Not was taken. B) Not taken. C) Was not taked. D) Was not taken. E) Was not took.

9. Переведите в косвенную речь: Mother says to me: "Don’t play in the street".

A) Mother asked me don’t play in the street. B) Mother asks me not to play in the street. C) Mother says to me don’t play in the street.
D) Mother says to me if I don’t play in the street.

E) Mother asks me in the street do not to play.

9. Найдите правильный вариант глагола.  If you … the job, you . . . more freedom.

A) got / will have  B) gets / would have C) get / would have  D) got / ‘d not have  E) get / would had

10. Выберите предложение с Participle II:

A) He left the room without saying a word. B) The watches made in Japan are very popular. C) She is driving a car at this moment.
D) It was raining all day long. E) She watered the flowers and left the room.
The Stone Age

The Stone Age was a period of history which began in approximately 2 million B.C. and lasted until 3000 B.C. Its name was derived from the stone tools and weapons that modern scientists found. This period was divided into the Paleolithic, Mesolithic, and Neolithic Ages. During the first period, (2 million to 8000 B.C.) the first hatchet and use of fire for heating and cook​ing were developed. As a result of the Ice Age, which evolved about 1 million years into the Paleolithic Age, people were forced to seek shelter in caves, wear clothing, and develop new tools.

During the Mesolithic Age (8000 to 6000 B.C.) people made crude pottery and the first fish hooks, took dogs hunting, and developed a bow and arrow, which was used until the fourteenth century A.D. The Neolithic Age (6000 to 3000 B.C.) saw humankind domesticat​ing sheep, goats, pigs, and cattle, being less nomadic than in previous eras, establishing permanent settlements, and creating governments.

11. When was the beginning of the Stone Age?

A) 3000 B.C. , B) 3000 A.D., C) 2 million B.C., D) 1 million B.C.     

E) 1 million A.D.

12. Into how many periods was the Stone Age divided?

A) 2, B) 3, C) 4, D) 5, E) 6

13. Which of the following was developed earli​est?

A) the fish hook, B) the first hatchet, C) the bow and arrow,     

D) pottery, E) stone tools 

14. Where could people find shelter?

A) in the forests, B) on the fields, C) in caves, D) on the sea – shore,     

E) in the mountains

15. Which of the following developments is not related to the conditions of the Ice Age?

A) farming   

B) clothing  

C) living indoors    

D) using fire     
E) using new tools
Вариант 2
1. Буква “u” читается отлично от других в слове.

A) turtle
B) turkey
C) turn

D) curtain
E) tube

2. Выберите исчисляемoе существительнoе:

A) Magazine
B) Health.
C) Rain
D) News
E) Peace.

3. Дополните предложение существительным в притяжательном падеже: Do you know my…daughter?

A) Uncle’s, B) Uncles, C) Uncle, D) Uncles’, E) Uncles’s

4. Выберите слово с 3 типом слога:

A) Bind
B) Bird
C) Match
D) Seed
E) Please

5. Выберите правильный вариант предлога:
They arrived late … night. A) in
B) for
C) at
D) from   E) after
6. Найдите Infinitive Simple от глагола "realize":

A) To have been realized.B) To be realizing.
C) To realize.
D) To have realize. E) To be realized.

7. Выберите правильную форму глагола в страдательном залоге:

The agreement ( to reach ) by them tomorrow.

A) Will reached   B) Will be reach.
C) Will be reached.
D) Is reached.
E) Be reached.

8. Замените выделенное модальное выражение его эквивалентом:   

I was able to speak English well.

A) must
B) might
C) could
D) may
E) can

9. Закончите условное предложение первого типа (Real Condition in the Future): If we ... by bus, it ... much cheaper.

A) will go | will be
B) go | will be

C) shall go | will be
D) will go | is
E) go | is

10. Найдите правильный вариант глагола.   

If the questions . . . easy enough, everyone . . . the test.

A) were / will pass
B) were / will have passed
C) had been / would have passed
 D) are / would pass
E) were / would passed


The Buffalo

The buffalo is the largest North American animal. It weighs as much as 2,000 pounds. It lives with other buffalo in groups or herds. Two hundred years ago, there were 60 million buffalo. They lived all over the centre of North America. There were thousands of herds. One herd was twenty miles long and twenty miles wide. The buffalo followed the grass and the Indians followed the buffalo.

The Indians used the buffalo for many things. They used it for meat. Sometimes they ate fresh meat. Sometimes they dried the meat in the sun. Then they ate it later. The Indians also used the skin, or hide, of the buf​falo. From the hide they made tents, clothes, shoes, hats, and rope. They wasted nothing. But times changed.

People from other lands came to America. These immigrants crossed the country in wagon trains. They killed the buffalo for food and hides. More and more people came. And everyone wanted leather. Hunters with guns killed the buffalo only for their hides. They wasted everything else. These hunters were very good at their job. By 1900, there were fewer than thirty buffalo alive.

Today, there are about 30,000 buffalo in America. But herds are very small. You can see them in state of Wyoming. Sometimes you can buy buffalo meat at a restaurant. But you will never see a herd of buffalo as big as a city.

11. How many years ago were there sixty million buffalo?

A) 100, B) 200, C) 2000, D) 1000, E) 1100

12. Where did buffalo live?

A) In the east of North America    

B) In the west of North America   

C) In the south of North America     

D) In the centre of South America       

E) In the centre of North America

13. What did buffalo follow?

A) Indians     

B) grass      

C) wind     

D) flowers    

E) water

14. What did Indians use buffalo for?

A) for riding     

B) for eating     

C) for making tents     

D) for many things      

E) for talking

15. Who arrived to America?

A) Indians      

B) Americans      

C) Europeans       

D) People from all over the world       

E) People from Asia

Вариант 3
1. Выберите правильный вариант артиклей.   He was lying on … bed reading … book.

A) A, an.
B) An, -.
C) The, a.
D) The, -.
E) An, a.

2. Образуйте прилагательное при помощи суффикса:  fame
A) word
B) less

C) ly

D) ic

E) ous

3. Выберите правильный вариант степени сравнения прилагательного:

Which do you think is …: a holiday in the country or a holiday in a summer camp.

A) Interestinger.B) Interesting.C) Interestingerest
D) More interesting.  E) The most interesting.

4. Выберите слово, в котором выделенное буквосочетание читается отлично от других слов:

A) [Th]ought.
B) [Th]ough.
C) [Th]ere.
D) Wea[th]er.
E) [Th]e.

5. Выберите правильный вариант предлога:
I seem to know this woman … the picture.

A) of

B) by

C) on

D) at

E) in

6. Выберите верный вариант местоимений:  How are … children? – Fine, thanks. How are …?

A) Yours / yours.    B) Yours / your     C) Your / yours.   D) Your / your.
E) Yours / my.

7. Выберите правильный вариант:    

When…? A) the concert begin   B) will the concert begin
C) the concert begins  D) begins the concert  E) the concert will begin

8. Вставьте глагол в соответствующей форме: I was surprised (see) Tim at the party.

A) to seeing
B) to get seen
C) having saw
D) to see
E) to saw

9. Найдите правильный вариант глагола.  This time tomorrow I . . . .

A) skied      B) ski  
C) would ski
D) have skied
E) will be skiing

10. Выберите правильный модальный глагол:

The children … live alone. They are too young to look after themselves.

A) Had to be   B) Wasn’t able to
C) Shouldn’t
D) Shouldn’t be
E) Mustn’t be

Elizabeth Blackwell
Elizabeth Blackwell was born in England in 1821 and emigrated to New York City when she was ten years old. One day she decided that she wanted to become a doctor. That was nearly impossible for a woman in the middle of the nineteenth century. After writing many letters seeking admission to medical schools, she was finally accepted by a doctor in Philadelphia. So determined was she, that she taught school and gave music lessons to earn money for her tuition.

In 1849, after graduation from medical school, she decided to further her education in Paris. She wanted to be a surgeon, but a serious eye infection forced her to abandon the idea.

Upon returning to the United State, she found it difficult to start her own practice because she was a woman. By 1857 Elizabeth and her sister, also a doctor, along with another female doctor, managed to open a new hospital, the first for women and children. Besides being the first female physician and founding her own hospital, she also established the first medical school for women.

11. What was the year of Elizabeth Blackwell’s birth?

A) one thousand eight hundred twenty one   

B) a thousand eight hundred twenty one          

C) eighteen twenty one     

D) eighty twenty one     

E) eights twenty one  

12. When did she immigrate to New York?

A) 1821, B) 1921, C) 1841, D)1831, E) 1851

13. What was the occupation of her dream?

A) a doctor, B) a teacher, C) a driver, D) a nurse, E) a seller

14. For whom was it possible to become a doctor in the middle of the nineteenth century?

A) women      

B) woman       

C) mans    

D) men    

E) mens

15. What did she do to get money?

A) wrote letters    

B) wrote books  

C) gave music lessons    

D) wrote articles     

E) taught medicine

Вариант 4
1. Дополните предложение:  There is … shop in … corner of the street.

A) a | a

B) a | the
C) - | the
D) the | the
E) - | a

2. Выберите правильный вариант чтения количественного числительного: “255”

A) Two hundreds fifty-five.
B) Two hundred fifty-five.
C) Two hundred and fifty-five.

D) Two hundreds and fifty-five.
E) Two hundred fifty-fifth.

3. Выберите правильный вариант степени сравнения прилагательного: She is nearly as … as her father.

A) More tall.  B) The tallest.
C) Tallerer.   D) Tall.   E) Taller.

4. Определите правильный вариант глагола:

We … supper when suddenly the light went off.

A) Will have.  B) Would have.  C) Were having.  D) Have.   E) Are having.

5. Выберите слово, в котором выделенная буква читается отлично от других слов:

A) P[e]nsioner.  B) R[e]lative.  C) S[e]veral.  D) P[e]nalty.  E) For[e]st.

6. Выберите правильный вариант предлога: 

I look … my little brother when my parents are out.

A) over
B) through
C) at
D) for
E) after

7. Переведите в косвенную речь:

"Don’t tell me what to do", said George.

A) George asked not to tell him what to do.
B) George ask not to tell him what to do.
C) George asked to tell him not what to do
D) George asks not to tell him what to do.
E) George asked don’t to tell him what to do.

8. Замените выделенное модальное выражение его эквивалентом: 

He (will be allowed) to come here.

A) must
B) could
C) can

D) may
E) can't

9. Задайте специальный вопрос к предложению: I used to read a lot of books.

A) Did I used read a lot of books?
B) When did I use to read a lot of books?
C) Why do I used to read a lot of books?
  D) Did I used to read a lot of books?   E) Do I used to read a lot of books?

10. В данном предложении инфинитив является: 

I have come here to explain the situation.

A) дополнением.
B) обстоятельством.
C) подлежащим.
D) именной частью составного сказуемого.    E) определением.

Nobel’s Award

After inventing dynamite, Swedish-born Alfred Nobel became a very rich man. However, he foresaw its universally destructive powers too late. Nobel preferred not to be remembered as the inventor of dynamite, so in 1895, just two weeks before his death, he created a fund to be used for award​ing prizes to people who had made worthwhile contributions to mankind. Originally there were five awards: literature, physics, chemistry, medicine, and peace. Economics was added in 1968, just sixty-seven years after the first awards ceremony.

Nobel's original legacy of nine million dollars was invested, and the in​terest on this sum is used for the awards which vary from $30,000 to $ 125,000. 

Every year on December 10, the anniversary of Nobel's death, the awards (gold medal, illuminated diploma, and money) are presented to the winners. Sometimes politics plays an important role in the judges' decisions. Americans have won numerous science awards, but relatively few literature prizes. No awards were presented from 1940 to 1942 at the beginning of World War II. Some people have won two prizes, but this is rare; others have shared their prizes.

1. When did Alfred Nobel become a very rich man?

A) after creating dynamite 

B) after stealing dynamite   

C) after selling dynamite      

D) after burning dynamite   

E) after buying dynamite 
2. What kind of power does dynamite have?

A) constructive, B) creative, C) destructive, D) demonstrative    
E) active
3. What did Alfred Nobel establish in 1895?

A) a bank, B) dynamite, C) electricity, D) a fund, E) a political party

4. Which of the following is not listed as fund’s awards?
A) chemistry, B) literature, C) peace, D) medicine, E) sociology
5. When did the first award ceremony take place?

A) 1895  

B) 1901  
C) 1962  
D) 1968
E) 1940
